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ELECTRICAL ENGINEERING
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1.  Two voltmeters of same range, one moving iron type and other permanent magnet moving

coil type, are connected in parallel for measuring a.c. supply voltage. If the reading of MI

type is 300V, the reading of PMMC type will be

(a) zero (b) higher-than M.L type
(c) lower than M.L type (d) same

2.  Schering bridge can be used to measure : ¢
(a) Qofacoil (b) Inductance and its Q value
(¢c) Capacitance and its power factor (d) Very small resistance

3. Inadigital voltmeter, the oscillator frequency is 400 kHz, the ramp voltage falls from 8V
to OV in 20 m sec. The number of pulses counted by the counter is
(a) 800 (b) 2000
(c) 4000 (d) 8000

4. A peak reading voltmeter has been calibrated with a sine wave signal and scaled in rms
volts. If a square wave signal + 1V peak is applied, the meter reading will be
(@) 0555V (b) 0707V
© 1V d 175V

S.  The current coil of a wattmeter is connected to the C.T. of R phase. Its potential coil is
connected across Y & B phases. The wattmeter measures
(a) active power in R phase
(b) active power of Y-phase
(c) reactive power in R-phase
(d) power proportional to 3-phase power if the load is balanced

6. An oscilloscope measures :
(a) peak to peak value of voltage (b) d.c. value of voltage
(c) r.m.s. value of voltage : (d) average value of voltage

7.  The best method for measurement of temperatures of hot bodies radiating energy in the

visible spectrum is

(a) bolometer ' ~ (b) optical 'pyrometer ‘
(c) thermocouple _ : (d) thermopile
8. Induction watt-hour meters are free from ,
(a) phase (b) creeping
(c) temperature , (d) frequency

9. A _d.c. ampere-hour meter is rated at 5A, 250 V. The declared constant is 5 A

sec/revolution. The constant in revolution/kwh will be
(a) 2880 (b) 2680
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(c) 2480 - (d) 2280
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(a) . 800 (b) 2000

(c) 4000 (d) 8000
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(@ 0555V (b) 0707V
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9. e R uftgeR-aife HieX 5A, 250V # fod Fruifea & IWE’tﬁﬂFﬂtﬁSA sec/revolution
& | 3! FEeRi® revolution/kWh & &
(a) 2880 (b) 2680
(c) 2480 ' (d) 2280
10. In CRO, Lissajous pattern will be a straight line, if the two signals are of same frequency
with a phase difference of &
(@ 0° (b) 180°
(c) 360° (d) All of these
11. If temperature of a radiating body is 1500 °C, the wavelength at which maximum radiant
energy occurs is
(a) 2.87um (b) 1.63 um
() 1.01 um (d) 20.85um
12. A (0-25 A) ammeter has a guaranteed accuracy of 1% of full scale reading. The current
measured by this ammeter is 10 A. The percentage limiting error for this measurement is
(a) 0.025% (b) 025%
() 0.5% @ 25%
13. A resistance strain gauge with a gauge factor 3 is fastened to a steel member subjected to a
stress of 100 N/mm?. The modulus of elasticity of steel is approxnmately 2 x 105 N/mm?,
The percentage change in the resistance is
T ER B (b) 1.0
() 0.5 d 0.1
14. Two wattmeter method for measuring 3-phase power is employed in a 3-phase balanced
system with current coils connected in A and C lines. The phase sequence is ABC. If the
current coil in phase A reads zero, then the power factor of the load will be
(a) 0.5lagging (b) 0.5 leading
(¢) zerolagging (d) zero leading
15. Maxwell’s inductance-capacitance bridge is used for measurement of inductance of
(a) Low Q coils (b) Medium Q coils
(¢) HighQ coils (d) Both (a) and (b)
16. If ‘d’ is the deflection in galvanometer in scale divisions in mm and ‘I’ is galvanometer
- - current in BA, then the current sensitivity in mm/pA is
(a) Id (® d1
© @ @ A
17. The secondary output voltage of a saturable core frequency meter is the function of
. (a) only frequency (b) only primary voltage
(c) both (a)and (b) (d): None of above
18. Eddy current damping is normally used in the instruments of
‘(a) Induction type (b) Moving iron type
(c) Permanent magnet moving coil type (d) Nothing can be said
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19. A d.c. ammeter has a resistance of 0.1 Q and its current range is 0 — 100A. If the range is
to be extended to 0 — 500A, the meter requires the shunt resistance of
(a) 0.01Q () 0011 Q
() 025Q (d 0.025Q

10. CRoﬁ%iﬂmmmiﬁvﬂ%mm 9 J1 Wl S FHE 8 R FHer- T @,
(a) 0° (b) 180°
(© 360° : (d) ot

;8 uﬁﬁ%ﬁmfﬁﬁaﬁwmwwmwta’r aﬁﬁqﬁmwm?%mm-ﬁwﬁm
A
(a) 2.87 um : () 1.63um
(¢) 1.01pum | (d) 20.85um

12. T (0-25 A) 9Tt St A Y Qof Bhel WIGdi I 1% & | 9 YR §R A e 6wy
10 A% | 59 A9 1 wicwraen g gfe @
(a) 0.025% ® 0.25%
) 0.5% @ 2.5%
T 70T 3 ATt fepet wferty faepfer o1 it v Wier 959 99 W 100 N/mm? %1 81 (vfeer) 78
W E, VST ¥ | WIS T TR O e 2 X 105 N/mm? € | wiekiy # vl s5ee &
(@ 1.5 ) 1.0
() 0.15 d 0.1

14, O Sfer e oo o wftrme & ford fr-anesiie fafls = s v & | el @ e
FUeferat A AR C @l § waifow & | Fom A ABC ¥ | ik Fo A 9 R FUsw =
TRt & At P Wi <1 vt Tores g 2
(a) 0.5 e (b) 0.5 smTH
(c) ¥ T (d) I e

15, HeRae UIehe-SHIG W 1 WanT Ui 719 | faar s &, fora et &
(a) Qfm=admt (b) QW EMEMIE |
) QSHTWE I - d) (a) R (b) A

16. 3t foit feamiey, foren faera favm s 4 @, w1 fawig @’ g o T ﬁﬁaﬁaaﬁmm
7 ¢ ot Swe yRrguEd /A | g
(@ Id (b) d1
() dI d I
forelt st i ST 1 fiefaes e steean v @ar &
(a) Haw G H | (b) Haer WrafHe dieedr = |
(c) (a) @ (b) T | (d) SR F g A |

18,  ToRYRT STEH=H 1 WA WHIAT W19 3941 3 B §
(a) WUYER & (b) F-TIE WFR &
c) T e ¥ FUSH! HhR & (d) O & FE1 T FHA
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19.

20.

21'

22,

23.

24.

25,

26.

2.

28.

e oo, areher = SRR 0.1 Q 3 ST YR 0-100A ¥ | 3R T 0-500A TF TEA!
2 At Hiex ¥ vie sy FEm am

(@ 001Q (b) 0.011 Q

0 025Q (d 0.025Q

A d.c. potentiometer is designed to measure upto about 2V with a slide wire of 800 mm. A
standard cell of emf 1.18 V obtains balance at 600 mm. A test cell is seen to obtain
balance at 680 mm, The emf of the test cell is

(a 100V (b) 134V

() 150V d 170V

An average reading digital multimeter reads 10 V when fed with a triangular wave,
symmetric about the time axis. For the same input the r.m.s. reading meter will read

(@) 20A3V () 10A3V

) 203V @ 10,3V

Load flow study of a power system is mainly carried out for

(a) fault calculations (b) stability studies

(c) system planning and operation (d) load frequency control

Three materials X, Y and Z having relative permittivity 2.5, 3.0 and 4.0 respectively are
used in a single core cable. The materials on inner most and outer most layer respectively
should be ‘

(a)) XandY (b) YandZ

(¢c) XandZ (d) Zand X

A cable has an insulation of relative permittivity 2. If the insulation is replaced by one of
relative permittivity 4, then capacitance of the cable

(a) 1is doubled (b) is halved

(c) remains unchanged (d) is reduced

The normal voltage for dielectric heating is

(@ 1500V (b) 11kV

() 33kV (d) 66kV

For the use of Newton-Raphson method, the non-linear algebraic equat:ons are made
linear with the help of

(a) By decoupling the equations (b) Taylor series expansion

(c) Exponential distribution (d) Nothing can be said

In the load flow analysis, Jacobiar is represented as

i ]

For decoupled load flow analysis the assumhtitms made are

(@ M=0;L=0 (b)) H=0;L=0

(©) *‘M=0;N=0 (d H=0;N=0

A power system network with a capacity of 100 MVA has a source impedance of 10% at a
point. The fault level at that point is

(a) 1500 MVA (b) 1000 MVA
Series-A. 6 : SES-07




v s 20,

i %

(©) 500MVA ‘ (d 100 MVA
29, [Itis always economical to improve the power factor of an electric installation fo
(a) zero (b) unity
(c) alittle less than unity . (d) alittle more than-unity
femelt . a. Ferrarsmelt =t 800 e, aﬁmm%mmzvaﬁmﬁ%fw}mw% |
T W, e faana. 1.18 v &, 600 firdt. W dqer v wRan & | v 9w 680 faedt w0
T AT Shiell AT 3G S ¢ | R0 ¥ il fara. &
(@ 100V () 134V
(¢) 150V d 170V
3 wmﬁmmqﬁﬁ\ammmm Gﬁwmﬁswﬁm% ﬂ‘ﬂfﬁatﬁm%m
10 V ga & | 34 fran & ford weh o um.uw. e Hiew v
@ 20A3V : () 103V
(©) 203V @ 1043V
22, ﬁ#@mﬁwmwaﬁ-ﬂmwﬁwm%
(a) IO fol | (b) Ty g & ford |
(©) ﬁa#ﬁwqﬁm%ma (d) wR-3gh frEo & o
23. ?ﬁqwéx,y,mszm%m&aﬁqamm2.5,3.0@4.ot,aﬁﬁwa°rmm%&a
# WA o ST & 1 STRaH SR e e % e e 8 9
(@ X3arRY (b) Y3IRZ
() X3IRZ @ z3RX
m%ﬁﬁ%ﬁmﬂ\ﬂaﬁmﬁmﬁmﬂamztm&ﬁmﬁaﬁ@ﬁgﬁmﬁﬁ#w
T w1 Fererant wmifiren fereertioren 4 &, ot faer 9t aiier
(a) TR SEE | (b) TTE AE |
(c) Tafafe el g | (d) FARSRME |
25, WX A9 § WA Sreedl g &
(a) .1500V b 11kV
(€) 33kV (d) 66kV
26. et fa & s & ferd, sl o oot 9 et e omen &
(a) |t wHiwO B fagree R | (b) TER-S0f fowR FF |
(c) SRS §e FF | (d) T& T T FHA |
27. m—mﬁvﬁwﬁﬂaﬁhwa%[a E]ﬁmﬁmﬁmm%lwﬁnﬁm-mﬁvﬁw%
ford yron s et & :
(a M=0;L=0 . (b) H=0;L=0
(c) M=0;N=0 (d H=0;N=0
28. T 100 MVA &5a & s = 1 forelt farg O site wieramenr 10% & 1 39 fag R &9 &R &
(@) 1500 MVA (b) 1000 MVA
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(c) S500MVA (d 100MVA
29, et S wlerser < il YOI F@TAT ST SRV AR & &
(@) AT | (b) TETH |
() TEIATTHA @) T @ grer |
30. An overhead transmission line has a span of 260 m. The weight of the conductor is
0.68 kg/m. The maximum allowable tension in the line is 1550 kg. Maximum sag of the
line should be
(@ 58m (b) 46m
(c) 2Im (d 37m
31. Shielding angle of an EHV line is about
(a) 20° (b) 50°
(c) 70° (d) 90°
32. A transmission line to be reciprocal, the condition is
(@ A=D (b)) AC-BD=1
(c) AD-BC=1 (dd AB-CD=1
33. For a battery with constant voltage, the reflection coefficient is
(@) o e -1
1 d O
34. In a single phase a.c. distribution shown in the figure below, the single phase load are
being supplied. The voltage drop from A to C is '
A B G
230V
30A, 40 A,
0.8 lagg UPF
() @5+j30V (b) (30+j45)V
@ @45-j30)V d j30Vv
35. For a given base voltage and base volt-amperes, the per unit impedance value is x. For the
doubled base values of both voltage and volt-amperes, the per unit impedance will be -
. (a) 2x : : () 0.25x
‘(c) 0.5x , : ~ (d) nochange
36. The zefo sequence current ofa generator for line to ground fault is j 2.4 p.u. The current -
*through the neutral during the fault is '
(@ jO08pu (M) j24pu
(¢) j024p.u. (d j7.2pu
37. Corona loss on a system at 50 Hz frequency is 1 kW/phase/km. The corona loss on the
~© same system with supply frequency 25 Hz will be
: (a) 1 kW/phase/km (b) 0.667 kW/phase/km
Series-A : , 8 SES-07




(c); ‘0.5 kW/phase/km (d) 1.414 kW/phase/km
38. . Sheath is used in cables to -
(a) provide proper insulation (b) prevent moisture .
(c) prevent chances of rust on strands (d) provide strength to the cable
30. fersit SufkfeR artwor et ot hemer (span) 260 W, ¥ | TR et 1 9R 0,68 REAR. & | wrers
1 sAfererere Faifa T 1550 fRa. & | =reren o sifiees wier a1 =1 |
(@) 5.87%. ; (b) 4.67%
Sodg 27 . (d) 3.7%.
31, et 3= dreeE (EHV) 7% 1 vl ot emmam g &
(a) 20° (b) 50°
(c) 70° : (d) 90°
32, fordt uRor TR W At B v &
(@ A=D () AC-BD=1
(¢) AD-BC=1 (d AB-CD=1
33. s feeR dieear & A @1 qrad o gy
(@) oo b -1
) -1 g
34. T THCI-Fl W4 Foreer, i A o o i e 8, A < ooer-sen S a oy @ e g o fg
A ¥R C % i gieed iRee & :
‘ A B C
230V
30A, 40 A,
0.8 lagg | upr
@ (4.5+j30)V (b) (30+]4.5)V
() (@4.5-j300V . . d j30V
35, 3 & amum deea U AR dive-weitR & ferd v T e AR 2 ¥ 19T e steer
T AR Foe-TER ST St 81 A1 e 151 17 at et g wierame gt
(@) 2x (b) 0.25x
© 05x (d) IS SEEE T
36. forelt STt % e X sqEline < % o 9 AR j 2.4 Wd & 1 S % o e o
waTtea g
(@) jO.8wi. (b) j24%%
© j0.24wi. @ j72%i
37, fodl @7 § SR @ 50 8 ot W | ReA/senfea. & | 7 ® agf 25 ¥ F 9y
I &1 B ‘
(@) " 1 fFar/mm/fe. (b) 0.667 f&.an./Fen/fa.
(c) 0.5 fman/menfe. (d) 1.414 fEan/Fen/fe.
SES-07 9 Series-A
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38, fal § ST e gt €

(a) TgeR ferege e & ferd |
(b) T AFAFH

(© e (strands) T ST A W GEIES A AHA & ford |
(d) Hiaet = T U wA & o |

39. Laplace transform of f (i) is

(a) af(s) (b) f(as)
(c) af(as) (d) None of these

40. The connections of two windings of a three-phase transformer is represented as

/A

Its zero sequence network is

o— FWTI—0
(a)

O e

o—"ﬂ"ﬂ'ﬁ- R
(b)

° AILLE ©
(c)

oYY 2
(d)

" '41. The d.c. resistance of a conductor due to skin effect is

=

.(a) unchanged - (b) * decreased
(c) - increased (d) infinite

42, Tn a synchronous motor, if f is impedance angle and & is torque angle, then the maximum
- developed mechanical power is obtained when
- (a) 8=180-2 b) d=2p
(c) 8=180-P (d d=P

o e .
43. A suspension insulator string has three units with ground capacitance of 0.2 C and. self

capacitance of C. Its string efficiency is

Series-A 10 SES-07
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(@ 75% : (b) 78%
(c) 80% d 85%
44, - Use of double line to transmit power is helpful in
- (a) increasing power capability (b) increasing stability
(c) both(a)and (b) (d) decreasing power capability
39. f@ T AT T &
(ay -af(s) (b) f(as)
(c) af(as) : (d) wH R T
40, Ferdt freper aRtonee i < e e
: ! | / A e E |
THH Y- ACTh &
oYV —2
(a) :
—Foo e ©
(b) _
E A LLIA
(©
° I °
@
41, TR % R R e A wfy
(a) @ SEEAAE | (b) FHESIEIE |
(c) WSS | (d) IFa@ME |
42. el qoam A2ieX ¥ 9ig ufaem w7 B 3R St Hivr § ¥ qw s ity i e @ E
(@ 6=180-2PB (b) 8=2B
(c) 8=180-P (d o&=8
Tt farema omas oot | ot sat ¢ et unier 0.2 C @ @Yiiar C & | 399t @St aar
Ruii
(a) 75% (b) 78%
SES-07 11 Series-A
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44,

45,

46.

47.

) 80% d) 85%

viftrer qrwor 3 ford f-eATe < T e e 8

(a) viRmeamAIH TR | (b) EREHRTAA |

() 3 (a) 3R ®) (d) vREaTRFAFAE |

Followmg two statements are marked Assertion (A) and Reason (R). Select the correct
answer using the codes given below :

Assertion (A) : Load flow analysis is usually camed out using Ypgys-

Reason (R) :  Ypys generally matches the network topology but not sparse.

Codes :

(a) (A)and (R) are correct and (R) is correct explanation of (A).

(b) (A) and (R) are true, but (R) is not the correct explanation of (A). ; x

(¢) (A)is false, but (R) is true.

(d) (A) is true, but (R) is false.

Surge impedance loading of a line is proportional to

(a WV b V

() V? @ v

Assertion (A) : Feeders are designed mainly from the view point of voltage drop in
them.

Reason (R) : Current loading of the feeder remains same along its length.
Select the correct answer. :

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(¢) (A)istrue, but (R) is false.

(d) (A) is false, but (R) is true.

48. The d.c. output voltage of a bridge converter used in HVDC transmission is
32 : 243
o 22, ® 3,
33 33
o) S8, @D TE,
49. 3-phase, 4-wire system is commonly used for ‘
(a) -primary distribution (b) secondary distribution
(c) primary transmission . (d) none of the above .
. 50. The maximum mechanical power developed by a synchronous motor is given by
, v VE
@) Ppy=F XsW/ph : ) [ “f Wiph
E
(© Ppaxzy XsWiph @ Po.=VE =2 Wiph
51. The inductance of a line is minimum when :
(a) GMD is high (b) GMR is high -
Series-A 12 SES-07
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‘ .(c) Both (2) and (b) : @ GMD is low, but GMR is high
52, Power capability ‘P’ of HVDC transmission varies with the distance ‘D’ as
(@ Pe«l/D (b) PeD
(c) P \/_ (d) it does not depend on D
45. ﬁmfaﬁaﬁﬂmfﬂ%mm)mm(k)#ﬁﬁaﬁmfﬁﬁ | et et T et B i
T I G
FUT(A) R AT Foeteor ST Y 1 WA R e s |
FROT(R) :  WHEATETY gy TETH WA 1 oS FT & STafen foer 76t g |
F: | : :
(@) (A) 3R (R) T W81 € 3R (R), (A) F Fel WLHOTE |
‘(b) (A) FHX (R) Tl ¥4 & WA (R), (A) T TET TLIFOT AE & |
(€) (A) o & AR (R) T R 1
(d) (A)FEE W R)TATE |
46, ot o i ot wieaTr Wi Qe g g
(@ 1V b V
e @ Vv
47. FEA(A) : el o fewen YEaar s divear RO H o § @ER R ey |
FROT (R) : IS I YRI-HR AR Hi Q0T oalg § THaHH Sar g |
TE IR g
(a) (A) 3R (R) 31 GG & 3T (R), (A) 1 FEl WRIFOI¥ |
(b) (A)@T(R)ﬁﬁ?ﬁ(R),(A)ﬂﬂﬁmﬂﬂﬁ?
() (A)TIETRT(R)TATE |
() (A)ToTT & 90 (R) §¥9E |
48, I Siced .41 IRYO § wgE W Fede i i aieear gt &
33 33
_(c) 2n E, ‘ @ 17 E,
49, Faret, 4-aR frepm T SuET ST AT S §
(a) gt faamor (b) Tl fammor
(c) vty Ty (d) IRFHQ FETE
50. qEEIE W BN ifyean Sefea it vfE i fm
\s VE
(a). Pmax;EXsWIph (b) Pmax:X_s Wi/ph
; E _ X
© Pry=y XsWiph | @ Ppy =g Wph
51, et e T AR g B & o
(a) GMDT=# | (b) GMRS=T |
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52.

53.

54,

55.

56.

5.

58.

59'

60.

61.

'62_.

(c) T (a) 7T (b) & | ‘ (d) GMD =7 & W= GMR uF e |

Fe dteed .41 TRUT (HVDC) W1E $i 9 e amed ‘P ot & g8t ‘D’ % /1 wiatem
Bt - -
(@) Pe1/D (b) PxD

(¢) P«xD (d) TDWPFRTE S |

A power system is represented by its system matrix Zg;;g (m X m). Now an element is
added in power system network without creating a new node. The dimension of the new
impedance matrix will be

(a) mxm ) (Mm+DX(m+1)

€) m-=-1)x(m-1) (d (Mm+2)x(m+2)

The ‘transportation delays’ occurring in distribution system are detrimental to stability
because they produce

(a) attenuation (b) phase lag

(c) both (a) and (b) (d) transients

Bundle conductors are mainly used in EHV overhead transmission lines

(a) toreduce transmission line losses (b) to reduce corona

(c¢) help in carrier communication (d) both (b) and (c)

Keeping in view the cost and overall effectiveness, the circuit breaker best suited for
capacitor bank switching is

(a) Air blast i (b) SFg

(c) Vacuum (d Oil

The insulation strength of an EHV transmission line is mainly governed by
(a) Load power factor (b) Switching over voltage
(¢) Harmonics (d) Corona

The transmission line distance protection relay having the property of mherently
directional is

(a) Impedance relay (b) Reactance relay

(¢) MHO relay (d) None of these

In case of load flow analysis one of the system buses is taken as swing bus

(a) asreference bus (b) to compensate the system losses
(c) both (a) and (b) (d) to reduce the system losses

-

Transient stability can be improved by using governors attached to the turbines, should be
(a) fastacting

(b) slow acting ;

(c) no function of governors in improving stability

(d) nothing can be said

The function of carbon brush and commutator arrangement in a d.c. motor is

(a) to produce unidirectional torque. ‘

(b) to produce unidirectional current in the armature.

(c) to help in changing the direction of rotation.

(d) toreduce sparking.

The induced emf in the armature of a wave wound 4-pole d.c. machine havmg 100
armature conductors rotating at 600 r.p.m. and with a flux of 1 Wb per pole is :

Series-A 14  SES-07




(a) 1000V : (b)) 2000V

63.
53.

54.
55,

L5 56.

57.
58.
59.

60.

BE

SES-07 - 15 - Series-A

() 200V d 100V

A cumulatively compounded d.c. generator is supplying 20 A at 200 V. If the series field
winding is short circuited, the terminal vo]tagc'will

(a) remain unaltered (b) riseto220V

(c) -shoot up to a very high value (d) become less than 200 V

T vifert @ 6 e A Zyyg (m x m) el foear ma & | a7 it o e o e
AT, T g fohslt a7 St ST e § 7 72 Wi afesw Ft st gt -

‘(@) mxm (b) (Mm+D)x@m+1)

© Mm-1)x(m-1) : (@ m+2)x(m+2) o
faao &= o o 9T A ghaaeyE e et F il e et E |its d s e €
(@) &R (b) TEI T

(c) i (a) AR (b) (d) ®fF (transients)

31fer I Steedl TRYV FE | qUSH STeThi 1 WaNT Jed: fRar st &
(@) IR TS B B FH PR S R | (b) I HH A o |
(c) FRXERTY WEFEAE | (d g (b) 3R ()

N T el AHIEIraT S 2 | T gU 9y d fafan & ol waifas sogeam wiog
frTwame

(@ iR () SF,

(€ frama @ @«

EHV TR #res 1 faege Tt v qege: Freifie aier g

(a) TR VISR TUIR ETT (b) fafam afiaR St gry

(c)y ETHEIHET ZRT (d) WIRITERT

Sieiftee fauTTeer TTor § gor TIRS0T TS it 511 qRE et gl &

(a) * Wicamen for (b) wicEm Ret

(c) MHO f@ @ TR AT

R-WETE forerer % ford e & i # 9§ O =% # T (swing) w9 foran s &
(a) THaEH®TH (b) Trerra fat =it whagfa & fed o
(c) T (a) 3R (b) () ﬁmmﬁa’faﬁwaﬂﬁ%mn
#ifor (Transient) e i GURA % ford ZaTe! % W 77 TR g 6w

(a) g fomameier

(b) == framte

(c) e & YR % ford o 1 ¢ S e A |
(d) T T o EwEA

ferelt .. witew & ow v feepaiterde sqarear & # g €

(a) U Teuir sreATeor oer T | (b) omi=R# v feirg ywr I e
(c) Yo fewm & uftad= & 7eg & | (d) Termdt =t 9 7 |
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62.

63'

64.

65.

66.

67.

68.

69.

70.

el =R s v At .o st forerds ST wrerht st @ 100 & 1 600 r.p.m. WA
@ & | o oft 7 o | Wh & &t 37 fran sw Em

(2) 1000V (b) 2000V

(c) 200V (d 100V -
e et et .o, < 200 3. W 20 A RT g heen & 1 3 Ao e e W
e Ty it 2fieren aeeen gt |

(a) ImRafq (b) §EE 220 V & ST |

(c) TEER TR ST 8t A | (d) 200V & FH & AT |

Three single phase transformers each with 10 kVA rating are connected in a closed delta
arrangement. If one transformer is taken out, the output capacity of the system will be

(a) 20kVA (b) 8.66kVA

(c) 17.32kVA : (d 10kVA

An auto transformer having a transformation ratio of 0.8 supplies a load of 10 kW. The
power transferred inductively from the primary to secondary is ;
(@ 2kW (b) 4kW

(c) 8kW (d) 10kW

The ratio of rotor output to rotor input in an induction motor is 0.96. The slip of the motor
is

(a) 0.04% b) 4%

(c) 6% d 12%

The effect of increasing the length of air gap in an induction motor is to increase the
(a) power factor (b) speed

(c) magnetising current (d) air gap flux

A synchronous motor works as synchronous condenser when it operates
(@) under excited with leading power factor ;

(b) normal excited with unity power factor

(c) over excited with leading power factor

(d) over excited with lagging power factor

Armature reaction mmf and leakage reactance of a synchronous machine are determined
by

(a) open circuit test and short circuit test

(b)- open circuit test and zero power factor test

(c) zero power factor test only

(d) short circuit test only

In salient pole synchronous machines (Usual symbols are used)
(a) Xq <% (b) Xq=%*a
© x>X4 (d) X = 0

71. The voltage regulation of a transformer, with ohmic drop 2% and reactance drop 5% of
the voltage at 0.8 lagging power factor, will be
(@ 7% ; (b) 5.6% :
Series-A 16 : SES-07
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72. Ina 3-phase induction motor maximum torque
(a) is proportional tor, : (b) is proportional to \/'_2
(c) is proportional to r2 (d) independent of r,
* 73. The purpose of inserting external resistance at the time of starting a d.c. motor is to
(a) increase the starting torque. (b) increase the armature flux.
(c) reduce the starting current. . (d) reduce the armature flux.

64, - TF Feirg aRonfin, FF w@E AW 10 kVA ¢, = e wae § waifa @ m&tﬁ
- uftonfas =it ameR et fan s, ot a= = e e et

(@) 20kVA (b) 8.66kVA

(c) 17.32kVA (d 10kVA

65. g Tuitonti, frme swRor oaT 0.8 %, 10 kKW 1 ¥R Sgfa e & | 930 % 51 wrefyes @
ﬁ?ﬁwﬁaﬁﬁﬁwﬁﬂ%

(@) 2kW (b) 4kW
ey BEKW- (d 10kW

66. ferslt SoT Hiex # Tex frie e e e o S 0.96 & | Hiet 9 ¥
(@) 0.04% (b) 4%
(© 6% (@) 12%

67. Fﬁ#ﬁmtﬁaﬁ?mﬁmaﬁmwﬁﬂmﬂm? B % ferdt
(a) e U : (b) ==
(c) T YR (d) TSR TR

| 68. o o Hiet qeaeel WU 1 e T AT o S W R ST &
i (a) T VIR TIOT % WIT A TN | (b) IR VeI 7O o W WA I |
(c) TTITHT Vifer oI & WY Afe Suferd | (d) TSI Wi O & WY & Suie |

69. TEFhIE BN T AT SRRAT a1, T &7 WicEre ST e sar &
(a) o TRTY GLeor T = qfger TR 5 |
(b) T W TRIEOT T ¥ iR T[T IOl FRT |
(c) W Y[ VIfs T]UTeh SIEOT ERT |
(d) T VY YOS TR ERT |

70, Frclt SR e ST e el 3 (rfer b 1 T g )

(a)_ Xg <% (b) Xq=Xg
(c) Xq> %4 (d) X = 0
71. fort ofionfis forad wierisdt steear exor fFife aieedr #1 2% aan wia=mt Sieear 7o 5% § |
ifeeT TOTER 0.8 TTERT TR Soeat (e &
@ 7% (b) 5.6%
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80,

(c) 5.3% (d) 4.6%
72.  ferslt e vRor st o arfirse SOt
() 1, WHF BT | e (b) @%mﬁﬁ% [
(c) 1% WHE BT | () 1, W R
73. Tt . Wi & TReE & W e whiy # gaeie F9 s |
(a) WRTSYE eyt 9o/ & ford | (b) IR oo B TR & o |
(c) WRftys yRr = F9 w1 & R | (d) TR woIT & FH 1 & o |
74.  The copper loss of a transformer operating with at full load is x. When load is reduced to
half, the copper loss will be
X
(@ =x ®) 5
X
© 2 @ 5
75. A transformer has negative voltage regulation when its load power factor is
(a) zero (b) unity
(c) leading (d) lagging
76. If a self excited d.c. generator after being installed, fails to build up voltage on its first trial
run, the first thing to do is ;
(a) reverse the field winding connections (b) increase the field resistance
(c) decrease the speed of prime mover  (d) increase the speed of prime mover
77. For the given voltage and current, the value of voltage regulation of a line for lagging
loads with decrease in power factor
(a) decreases (b) increases | Y
(c) remains same (d) either (a) or (c)
78. With the increase in load on a d.c. shunt motor, speed of the motor
(a) increases proportionately (b) remains constant
(c) increase slightly (d) reduces slightly
79. Instruments transformers are used on a.c. circuits for extending the range of
(a) ammeters (b) voltmeters
(c) wattmeters (d) all of these
Repulsion motors are equipped with _
‘(a) slip rings : (b) arepeller .
"~ (¢) acommutator _ (d) None of these
81. The function of dummy coils in a d.c. machine is to
(a) increase the induced emf ;
(b) provide the mechanical balance to the armature
(c) render the average pitch an integer
(d) modify its electrical characteristics ;
'82. Shunt generators are most suited for stable parallel operation as their voltage
' characteristics are - :
(a) drooping : _ (b) identical

Series-A 18 ; SES-07
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., 80.

(c) linear (dj rising

83. The voltage applied to the H.V. side of a transformer during S.C. test is 2% of the rated :
voltage. The core loss as the fraction of its rated core loss is ;
(a) 4% (b) 04%
(©): 0.25% ' (d) 0.04% :
84 A_S-pole, 50Hz, 3-¢ induction motor is running at 950 r.p.m. and has Cu loss of SkW. The
rotor input is
(@) 10kW ' (b) 95kW ,
(¢ 100kW (d) 9.5kwW
e h mwﬁmﬁwﬁ@qﬂwmmﬁx%mﬁmaﬁmmmﬁwaﬁ?ﬁmmﬁmﬁ
@ x : ® 3
@ HEE @ §
ferelt aftonfirsr =1 SeeaT farm= FoTeaes BT § 9T T WK o1 iR O §
@ = (b) T
(c) ST : (d) vy
76. U IR {51, S WA % 9% 9oH WA 3 aieedr 9% e 3 fawet 8 e € a weawew
AT B & ;
(a) STFUCEHUASHF SAT A | (b) & Wiewiy =t T |
(c) T T SEATES i Il AT | (d) ¥ I SEUTEE i A TG |
77. & 73 dieean 3R 9R1 % ford wee wRi % ford oift U SR & Wy W i aeean e
AR ‘
(a) WEAE | (b) W |
(c) TETwAE | @ @)
78. YR §gM & WY fE.un. v Hiek i 9w
+ (@) SH AT S | (b) ferwEE |
(c) onfvFagde | (d) ifer e |
79.  SuEHOT STt 1 WA w4 SR W) R e & o e o g
@ TR (b) Sieedie =t
(c) iferrmmdr =t (@ THITH
fcreRsor SRt ® B &
(@ femfor (b) THRER
T TEERER @ vHIFET
81, f&.ur. mei= & e Foeemt 1 Fd AAE
(a) wfafaana. = sem | (b) TR i iR W WLH H |
©) it s =t qoTieh T | (d) T A AT T G |
82. ﬁmmwmm%%&maﬁamﬁmmﬁﬁiﬂ%mﬁaﬁmmﬁmmﬁﬁ%
L (), g (b) TEEH
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83.

84.

8s.

86.

87.

88.

89.

90.

91.

¢ @ (d) A

et e & ferd farelt aRonfirs = Seg-ateea #t avw it steee & 2% oz T
Tt 1w Afa s et S ams s d e a A ¢
(a) 4% (b) 04%
c) 025% " (d) 0.04%

T 6-4F, 50 T (Hz) Frerem 3701 B 950 r.p.m, T e T8 & 7 g AT A SKkW § H&?.T 2
v
(a) 10kwW (b) 95kW
(c) 100kW d 95kW
The maximum torque of an induction motor is 200 kg-m at a slip of 12%. The torque at
6% slip would be

(a) 100 kg-m (b) 160kg-m

(c) S50kg-m (d) 40kg-m

If a d.c. series motor is operated on a.c. supply, it will show

(a) poor efficiency (b) poor p.f.

(c) spark excessively (d) all of the above

No load test on a transformer is carried out to determine the
(a) Culoss

(b) magnetising current only

(c) 'magnetising current and no load losses

(d) efficiency of the transformer

The maximum flux in a transformer is ¢,, when primary voltage is V and the frequ'eni:yris
f. If the primary voltage is 2 V and frequency is f/2, the flux will be

@@ 40, S (b) 0254,

© o @ 050,

A commutator with a diameter of 50 cm rotates at 1000 r.p.m. If brush width is 1.5 cm,
the time of commutation will be

(a) 0.168 msec (b) 0.374 m sec
(c) 0.481 m sec (d 0.573msec

A salient pole synchronous motor is running at no load. Its field current is switched off,
the motor will :
(a) come to stop.

- (b) continue to run at synch, speed.
(¢} continue to run at a speed slightly less than synch speed.
.(d) continue to run at a speed slightly more than the synch speed.

The d.c. series motor should always be started with load because
(a) it will fail to start

(b) it will not develop high starting torque

(c) “atno load, it will rotate at dangerwsly high speed

(d) All are true

92. The motor generally used in a mixer grinder is
(a) d.c. motor (b) induction motor
(c) synchronous motor (d) universal motor

Series-A - 20 SES-07 '
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93. A d.c. shunt motor runs at no load speed of 1140 r.p.m. At full load armature'reécuon
weakens the main flux by 5%. Whereas the armature circuit voltage drops by 10%. The
full load speed of the motor is
(a) 1200 r.p.m. (b) 1080 r.p.m.

(c) 1040 r.p.m. (d) 1000 r.p.m.
A pair of synchronous machines on the same shaft may be used to generate power at
60 Hz from given source of power at 50 Hz. Using minimum number of poles for both the
. machines, the synchronous speed will be
(a) 500 r.p.m. : (b) 600 r.p.m.
(c) 1000 r.p.m. (d) 1200r.p.m.
85. ferdll URoT Wi 1 12% WU R a:rﬁlaﬁtrmqﬁ 200 kg-m ¥ 16% uﬂwmm‘a;v’rz‘rm
- (a) 100 kg-m (b) 160 kg-m ?
(¢) 50kg-m (d) 40kg-m

86. Tt fe.um. droft wex it w.an. § 3mgfa F wafera fFam s & g8 swiam
(a) &S gETT (b) TS AR
(o) eTates e (d) S ®A

87. frelt oRonfir W@ odeor e A % ford e st €
(a) @A ' (b) et TG URT
(€) TE®E Y TE SR A (d) ufonfrs =it zamn

88. et ftonfir & mafirer ateedn V #iR gfa £ % fordt sifursrem wor ¢, € | 3% smafives steear
2V ar gha £/2 8 at v g
(@ 40, (b) 0259,

Lt @ 050,

89, T 50 T ST F FYLR 1000 r.p.m. WA W@ E | A T F =M 1.5 A, 3, 7 oz
T §HI BT
(a) 0.168 m sec (b) 0.374 m sec
(c) -0.481 msec (d) 0.573 m sec

90, TH I YT ToaHIel HIeX I WR T T W & | 39 41 917 i 9 9 fear ST g | /e

(a) TR |

(b) TS I § Hord @ |

(c), TeawEl i & gTet R T 9 Tewdt @ |
(d) oIl i | ArEt S i W SR @ |

91, faret fo.um. sroft wiex it WK % g & wRey faan s fee wite
(a) T8 e WIRES & HOH | (b) TE TS WKW Tl & T HW |
(€ IMRIEEEAHEIATARLHN | (d) Tha=E |

92, feRR-uTE=eY ® WHEAAT SUET §1 A HieX gt &

(a) T&um =R (b) WRUHIR
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(c) TEaHIEl AT (d) gHEEE AR
93. TH. fa.un. WX IR W 1140 r.p.m. 77 F 7o W ¥ 1 ot wR W amieR whafE & w0 e
FAFE 5% FH & Al & Tl AR IReY Sieeat 819 10% & | Hex F QiR =i & -
(a) 1200r.p.m. (b) 1080 r.p.m.
(¢) 1040 r.p.m. (d) 1000 r.p.m.
94, T 1 VI T fieer o et wef 36 T 50 Hz R 8 R/ 60 Hz S v s we
= ford e s v & | ok 3R ol e i R R @ S e T A
(@ 500r.p.m. (b) 600 r.p.m. ;
(¢) 1000 r.p.m. (d) 1200r.p.m. »
95. The rotor frequency for a 3-phase 6-pole, 1000 r.p.m. induction motor with a slip of 0.04
is '
(@ 2Hz (b) 4Hz
() 6Hz (d) 8Hz
96. The eddy current loss in an a.c. motor is 100 watts at 50 Hz. Its eddy current loss at
100 Hz frequency will be
(a) 50 Watts (b) 200 Watts
(c) 400 Watts (d) 25 Watts
97. A single phase transformer is designed to operate from 50 Hz, 1100 V supply and to have
an output voltage of 240 V at no load. The core has mean area of 30 cm? and the flux
density has not to exceed 1.3T. The number of secondary turns will be
(a) 1270. (b) 1017
(c) 768 @ 277
98. A current transformer must at all times have -
(a) asecondary load (b) short circuited secondary
(c) either (2) or (b) (d) none of these
99. Retardation test on d.c. shunt motors is performed for
(a) frictional losses (b) stray losses
(c) ‘copper losses (d) iron loss
100. If P, isthe air gap power and s be the slip of an induction motor, then the rotor copper loss
- and mechanical power developed are respectively : : ‘
‘(@) (1- s)Pg and ng ; (b) Pg (1-s)and Pgls
.(c) s and Pg (1-5) : (d) sPs and (1 -s) Pg
101. An amplidyne is actually ‘
(a) ad.c. amplifier (b) an a.c. amplifier
(c) an induction motor (d) aschrage motor
102. Two d.c. series motors connected in series are driving a mechanical load. If the motors are
connected in parallel to drive the same load, the speed becomes

Series-A 22 SES-07




103.

(a) slightly less than double . (b) slightly less than half
(c) slightly more than double (d) slightly more than half

An 8 polc wound rotor induction motor operating on 60 Hz supply is driven at 1800 r.p.m.
by a prime mover in the opposue direction of revolving magnetic field. The frequency of
_the rotor current is

(a) 30Hz (b) 60Hz
(c) 120Hz (d) 180Hz
104. The active power of a synchronous generator can be varied mamly by .
(a) changing field excitation = (b) changing of prime mover speed
=2 (c). both (a) and (b) (d) none of the above
95. ﬁﬁﬁTBﬂﬂ;l%ﬂrpmﬂlﬁW%%WOMWﬁimﬂamﬁri
(@ 2Hz - (b) 4Hz
(c) G6Hz (d 8Hz
96. 'l w3 art T wY 50 Hz T 100 ¥ 1 100 Haz S 2 e drae ar wi et
(a) 50 Watts (b) 200 Watts
(c) 400 Watts (d) 25 Watts
97, wmaﬁwsoﬂzwﬁmﬁqﬂ%uoova:rr{fﬁaim%ﬁaﬁmwmvﬁmaﬁmia
feae= foran T & | e W sirge & 30 cm? & ¥R worE B 1.3T § a1 e 8 A e
FUEA o B ] HEAT B
.(a)" 1270 (b) 1017
(c) 768 d)- 27
08, e feonfivs =Pt e v S e
(a) i 97 % W (b) A faeias % W
© @3(b) (d) T TS
99, e A W e e frmr o
(@) wHUEHE % R | (b) eaifon wfal & fod |
(c) T EFE o ferd (d) weabE s
- 100. ﬁw”rﬁwqmwmgmmﬁﬁP %ﬁmﬂﬂwﬁa’rﬂaa&mzﬁaﬂtmmﬁﬁmﬁa
FERT: B :
" (a) (l—s)PgQﬁng (b) Pg (l—s)QEiPE/s
P
© 7 WP, (1-9) @ sP,WE(1-5)P,
101, THSATSTEA aTeTa | & € UH
(a) e yad= (b) WU yEHH
(c) . WRUTHRER : (d) =W HER
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102.

103.

104.

105.

106.

107.

108.

109.

110.

ot 7w 3t fa.on ot vt R aifres aw e W@ E gk S 5 eI
T T I TR 1 R FO A A e e :
(@ JTRIFTTH (b) IWIFEFH | :
(c) TR Fo A | (d) oM | Fo AfF |

T 8-4 FIIVE T U0 HI, H 60 Hz Ft AAE & Tofend &, 1 Toh T4 74 e g0 i
TR & % ferdra feem o 1800 r.p.m % witenfere far sten € | Wrex W Y e R :

(a) 30Hz (b) 60Hz

(c) 120Hz (d) 180Hz

ferelt qraeret witm o ot ot =t oftafee frr s e g
(a) & IV F TWAFT (b) T A IRF FI e ' TG
() (@mb)IAI | (d) SWFH Y FETE

The sensitivity of a closed loop system to gain changes and load disturbances depends
upon
(a) forward gain (b) loop gain
(c) frequency (d) all the above
Transfer function of a zero order hold will be
(@ 1-e™ () 1+eT
] —eTs 1 -eTs

@ = . — | ,
By increasing the gain ‘k’ of a system, steady state error of the system
(a) increases (b) decreases
(c) remains unaffected (d) nothing can be said
The unit impulse response of a system starting from rest is given by C(t) = 1 —e2; ¢t > 0,
The transfer function of the system is

2 1
(a) s(s +2) (®) (s+2)

2 1
(© (s +2) @ (1 +2s)
The characteristic equation of a system is given by 3s* + 10s + 5s2 + 2 = 0.
The system is
(a) stable

(b) unstable ; . :
(c) incomplete data is give 3 _
(d) stability cannot be tested by characteristic equation

Considering the unity feedback system shown below, the settling time for the system for
2% tolerance band will be :
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5 C

s (s +2.4) i
V) 228 ®) 2.84
© 3.33 d) 450

111. The state model of a system is represented as

S e 0 :
X =|: 2 .3 }X + [ 1 :]u and output y = [ 1 0] X. Its transfer function will be
1 3

(a)° (b)

s2+2s+3 s245+2
: 3 1
'(C). s2+2s5+3 @ Zi3s+2
105. fohall 5= afae & o wfey afeds i W faeitat & g gonfean Fek s &
(a) oW @i (b) R
(c) omgaw , (d) SHRIF I
106. ﬁﬁqwﬁﬁm(hold)mwwm
@ 1-¢™ (b) 1+eTs
_a-Ts _ als
@ = =
107. Tt 7 =1 Al ‘k’ @™ W AT H @R S g
(a) wele | (b) FHEE |
(c) smwfe el g | (d) O T T T Fhel |
108. ToF¥t 77 1 3T ST SRR, STE 98 R @ AT AT 8, C(t) = 1 — 2 t2 0 RIS &
: | T ST TR0 o §
. ) 1
@ 5+2) ® G2
‘ 2. 1
©. s+2) - @ T3

109. ferat a1 =1 srfiremertores weieo o mar
3s% + 10s +5s2+2=0
e
(a) =™
(b) TR
(c) THFTTAE |
(d) wAfemeiore wHieoT § wniae 1 q<ieor 7@t o = g |

110, 3 7w T e T e e e, 296 e 4 3 o o s g
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R + 9 9
Y s(s+2.4) S
() 225 (b) 2.84
(c) 3.33 (d) 4.50
111, Tt 71 3 avereen Hiser =t
. 0 1 0 »
x=[ 24 ]X+ [ i }uWﬁﬁﬁy: [10] X R TiaT e |
THE! ST Fe &
1 2
@ s2 425 +3 (®) $245+2
3 1
© ‘s2+25+3 @ Fr3s+2
112. A control system whose unit step response is 0.5 (1- e ) is cascaded to another block
whose unit impulse response is e, The transfer function of the combination is
1 1
@ G+rDG+2 - ® G+
0.5 1
© Gr)G+2 @ s+2)
113. If the Laplace transform of a signal is P 1_ 5 then its final value is
g =1 b)) 0
= B (d) unbounded
114, The feedback system whose Nyquist plot is shown below, is
w=0" - |w=-w
= |
(a) “unstable (b) conditionally stable
(c) stable (d) none of these
115. In force-current analogy, analogous of displacement is
(a) charge (b) flux linkage
(c) voltage (d) current density
116. Ina type — 1 system, the steady state acceleration error is
(a) zero ; (b) unity
(c) infinite _ (d 05
117. A ;systt;m with gain margin close to unity or a phase margin close to zero is
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118. ]

119.

120.

112.

113,

114,

115.

116.

117.

(a) conditionally stable (b) relatively stable

(c)  highly stable : (d) highly oscillatory

Natural frequency of a unity feedback control system of transfer function

=6 +n"> -

(a) 3.16rad/sec : (b) 0.5 rad/sec

(¢) 4.6rad/sec : (d) 2.0.rad/sec

Push-pull amplifier circuit is usedas

(a) RF amplifier (b) audio amplifier
(c) power amplifier (d) current amplifier -
"The unit of mobility is

(a) cm/Vs (b) m2/Vs

(c) m/Vs? mho/m

T8 UIS SFfshan 0.5 (1- -2‘)aréﬁshf=rammm'}as}zam‘am&mﬂﬁm -tmﬁga%m
R/ FOE S ST | WS SR GO §
1 1

@ GiDGeD ® Se+1
i 0.5 1
© G+DE+2 @ 5:+2
‘ﬁ%{ﬂﬁ%mmmms“ g, W A A Y
(a) -1 (b) 0
ey L. (d) ovefam
et gt T gt STTerE Ao GG A &

w=0" : w=-w |

e

w=0" W=+
(a) T (b) W wEr
(c) d) T IFETE
- RT T H, R e
(a) mEw (b) VT eIl
(c) dre=ar (d) UEE
ER-1 % 7 5 R o e e §
(@) W= b) v
(c) 3= ' d 05

TS 3 I fed-UTT STl 41 Y[ S I Hell-IUid Al hig 7 g &
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(a) T W& ; (b) wmafis s
(c) = wgr (d) =T
118, Tt 3ad qafareht frsror ae 1 =R e
10
G =5+ 1)% | T T ST #
(a) 3.16rad/sec (b) 0.5 radfsec
(c) 4.6 rad/sec (d) 2.0 rad/sec
119, -t (STa-aeoT) W Ui 1 W e &
(a) RF ¥od %I 7% (b)  ifed s
(c) VIeRT W &t e (d) HT WaF T
120, Tferefierar = TS A &
(@) cm/Vs (b) m%Vs
(@ m/Vs? (d) mho/m
121. The best method for determining the stability and transient response of a control system is
(a) Bode Plot (b) Nyquist plot
(c) Root 1ocus (d) Routh-Hurwitz
122. In a control system, the comparator measures the difference between
(a) output and input (b) output of controller and system
(c) actual and desired performance - (d) input and error signal
123. Integration of unit step function results in a
(a) unit doublet (b) unit impulse
(¢) unit parabolic (d) unitramp ‘
124. For a desirable transient response of a second order system, the damping ratio must be
between
(a) 04and0.8 (b) 0.8and1.0
(¢) 0.3and0.5 (d 0.2and0.4
125. Match the following lists and select the correct answer using codes given below the lists :
List-1 List-2 ;
(Time Response) (Laplace-transform)
A. sinot ) [0}
st + )
B. cosmt 2 1
© (s—a)?
C. e?sinot 3 8
TP -o)
D. te* 4 [0}
: © [0+ (s+2)4
Codes :
A B C D
a 1 4 3 2
)y Y3 2 4
ey 30k 4 2
3 3 4 2
Series-A. . . , 28 AL SES-07




126.

-Match List — I with List — I and select the correct answer using the codes given below the
lists.
List -1 List - I
A.  Separately excited d.c. generator k
e - L )
B: - A.C.Servomotor 9 k
. : T [s(1 + 18)]
C. Lagnetwork - ‘3. (s+2)/(s+p)
et ForZ<P
D. Lead network : 4. (1+75/(1 +1,8)
: <%
Codes : '
A—B C D
(ay 1 2 ;) 4
(b) 1 SRR s
ey -2 -3 4 3
(ay 1 =d i3
121. Mﬁmwmaﬁwmﬁam o (Zifreve) srfiwar e o & ford wad sq‘qaaf-q'ﬁr%
(a) AT | (b) TEERE eE
‘ © Tafagm d) Teu-afa
" 122, ot fordsor ol § FReR o i weer ¥
(a) fTriawdfEws | (b) s e s e
C (c) At e Sifed R | d) FewwEIcTFas |
123, T OIS Fol o AT IR #n &
(a) THE TEACH | (b) S AT |
(c) TR WEARH | (d TEMEEH |
124, Tt faardta 771 = aifoq gifres smfwan wTa w0 & o sam= s aien =iee
(a) 04¥08F N (b) 08F1OF
(). 0.3¥05%a= (d 02V04%FdN
125. ﬁﬁﬁhﬁaﬁgﬁ%mﬁgqﬁﬁ%ﬁﬁﬁg{mwmqﬁﬂ
" (3 arfea) (AT T
A, sinmt 1 (0]
N (LT )
B. cosmt 2 1
: a (s - a)2
C. e®sinmt 3 $
Y (o))
D. te £ ®
© o [@?+ (s +a)d)
g
A R D
) - Es 3 2
| SRl St it
{e)-=3 1 4 2
Wy % 4 2
SES-07 © . 29 " Series-A
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126, T - 19 gt — Hﬁqﬁfaﬁaﬁhﬁmqﬁ:ﬁﬁ?ﬁfﬁﬁwwmmwﬁmqﬁﬂ
Tt -1
A. WEﬁ'ﬁﬂﬁﬁ . aﬁw : k
(1 +1s)
B. W.uI. §EMIE . k
T [s(1 +1s)]
C. wWaAeTH : (s+2)
3. (s +py Z<P
D. W deTH
4. 1) T <1
(1+71,8) ! 2
LT
A B £ D
a) A% < R )
By 12 et
ey 2% 4.3
i Y G o s
127. Consider the differential equation § + 2y + y = u, where y(0) =0, y(0) =0 and u is a unit
step function. The poles of the system are
(© s;==1l,5==2 @ s;=1,8=2
128. X is a two dimensional vector [X, X,]T. The scalar function
V(X) = x} +x,x, is
(a) positive definite (b) positive semi definite
(c) negative definite (d) indefinite
129. Synchros in control systems are used as
(a) error detectors (b) encoders
(c) both (a) and (b) (d) none of these
130. For the n" order system, the state equations are of the order of
(@ n° () n
(© nl/4 (d) nl”2
131. A system is represented by the differential equation
d d
‘ 2:}%43% +8y =8x.
~ Its damping ratio is . ‘ - ol
ay 97 - ' : b 05 _ s
&y -2 @ 1
. ‘ : 1 o)
132. The steady state error for a first order system having transfer function 7"~ for unit step, . -
ramp and impulse test signals respectively are
@ O,TT b T,0,0
© 00,7 d OTO
133. Theend pomts of root loci are : - : :
Series-A , 30 SES-07




142.
and charge of an electron is 1.6 X 107! coulomb, the donor impurity concentration
‘per cm? is : ‘
. (8} 2%10° () 1x10'6
(o> 25x10° £4 @ 2x108
143. A material has conductivity of 102 mho/m and relative permittivity of 4. The frequency at '
which the conduction current in the medium is equal to the displacement current, is ;
(a). 450 MHz ‘ (b) 900 MHz
(c) 45MHz : , (d 90MHz
144. A silicon p-n junction at a temperature of 20 °C has a reverse saturation current of 10 pA.
The reverse saturation current at 40 °C will approximately be
(a) 30pA (b) 40pA
(€) SOpA . . d 60pA
136, TeraItTe aRael & Steedn fHaa & o SrEaear wEeT €19 e SErS e ¢
(@ R (b) =R
(c) faferrm (@ wifEm
137. T | MHz 1 63 309 07 % ford aHfer gt wieae &
(a) -G e (b) =en fawmam Sifer
(c) Wi (d) T & FE T
138, TR U W <A ot o wor o Sufa § 7
(a) TR - AW A (b) wEgHITER - T A
(c) ER - Hfera & (d) T - e A
139. A aife aTgfa el g
e e
‘ " 2n+LeqC
Leq % o 1 feren wmer &
(@ L,+L,+2M b L,-L,+M
140, - et Ziforeee aftae & Iwafe Seaste Hevor i ow wfe @ &
Iy I
B = <
(a) T (b) I,
I I
; E <
© I (d I
141. TR SCR % T2 iR FdTs & e U Hiaxias et Al €
SES-07 33 Series-A

(¢c) increase turn-off time of SCR
(d) increase dv/dt rating of SCR

Resistivity of n-type silicon sample is 0.5 Q-cm. If the electron mobility is 1250 cm?/v-sec
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133, Tw feguel & o g aid # |
(2) TN HIF o (b) FHTH o
() GATUF R : (d) s=FEFH R
134, it 5= afaw o= 1 witwer srmor or G(s) Hos) &1 sfiee s (-1, j0) feg = v & At
T AN IqTT
(a) o= (b) IYFIFT
©) YA AF @ =
135, == fedt o &
41 GGw) |
+40db
\ 120 db-===-- ?—
\\._/ -
=40 db |->Swwwzt.....
(a) o FR (W) # (b) v FRRR (Vi) =7
(c) PID == (@) om-vve FONR (vhens) &
136. The diode oftenly used for voltage regulation in electronic circuits is
(a) Zener (b) Varactor
(c) Silicon (d) Germanium
137. To generate | MHz signal, the most suitable circuit is :
(a) Wein bridge oscillator (b) Phase shift oscillator
(¢) Colpitts oscillator : (d) None of these
138. Both donor and acceptor impurities are present in the combination of
(a) Phosphorous - Arsenic (b) Aluminium - Antimony
(c) Boron - Gallium (d) Arsenic - Al;timony ‘
139. The Hartley oscillator frequency is
: 1
o \/LeqC
The value of Leq is determined by
(@ L, +L,+2M () L, -L,+M
() L +L,-2M @ L,-L,-M
140. The current gain of a common emitter configuration of a transistor circuit is
‘ T = E ;
R) o % : : T
(a) I ®) I
! : I
. E i
o d e
(c) IB | (d) IB
141. A resistance connected across the gate and the cathode of a SCR is to
(a) increase holding current of SCR
(b) decrease noise immunity of SCR
Series-A 32 : : SES-07
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;(a) open loop poles (b) closed loop poles

(c) open loop zeros (d) closed loop zeros e
134. If the Nyquist plot of the loop transfer function G(s) H(s) of a closed loop system encloses
i (-1, jO) point, the gain margin of the system is ;
(a) infinite - . (b) less than zero
(c) greater than zero - (d) zero
135. The plot given below i ;sl of
jw
1 40db
—\ T20db---mz
logo
- 40 db |-Swwerteo...
(a) lead compensator (b) lag compensator
- (c) PID controller (d) lead-lag compensator
127, . STEEEH FHET§ + 2§ + y = u R =R #f, 5w y(0) = 0, §(0) = 0 T u T T Ferd
T IWaA S UAE
(@, s;=-1s=-1 ; (b) s;=j,8=-l
© s;=-1,5==-2 d s;=1,5=2
128, s fi forfra wfemn X 1 (X, X,]7 & weflrer fovar man & | safieen et
VX)=Z +xx, ¥
(a) v e . (b) B TS
(c) fafvea monws (d) sl
129. =01 o= & ek 1 WA &Iel &
(a) FeETTETTHTE (b) HIEH H AE
(¢)  (a) 7 (b) ST (@) 9 wE T
130. Pt n =it o= o ford saree (state) THERROT 1 BT T €
(a) n° (b) n
(c) nl/4 d nl2
131, S FHIHT
d—j +4 a-'f +8y=8x
_ﬁﬁwsﬁaaaﬁmﬁmﬁmmt | TR T T A=A ST § :
(a_) 0.7 : () 05
el 2. @ 1
132, "SI0 HeH T +Tsmwmﬁmmém,hwmmm*mm
Ffedt e &
() OTT, ® T,0,0
(C) Oi O! T - : (d) 0, T, 0
SES-07 . : 31 Series-A
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142,

143.

144.

145.

146.
147,

148.

(a) SCRFSRTTUMR TR ERE | (b) SCR T sy o 3 557 5 Bt |

© SCR¥ZHIFTEHWASEA | @) SCRE D nw mHha |

-5 Pl Soger R 0.5 st 2. & | ok gevgr R e 1250 AR 3
T TR B 1.6 x 10719 Forwar & A St 279 wiwer why .93 F ekt & -

(a) 2x108 (b) 1x10!6

() 25x106 (d 2x10'5

et ooy =t e 1072 /e, & o T Pregeetiorr 4 ¥ | 5w s R T fadt T
T 4T, Fore orr & e A 8, aw

(a) 450 MHz (b) 900 MHz

(c) 45MHz (d 90MHz

e fafers p-n Hf %1 20 °C A w i wigha 9w 10 pA ¥ 1 40 °C AR W Rt
Fefter umy & 5 @ e

(a 30pA (b) 40pA

(c) 50pA (d) 60pA

Match List — I with List - I and select the correct answer using codes given belov;f the
lists.

: List -1 List - IT
A. Form factor of half wave rectified sine wave. 1. 1,57
B. Form factor of full wave rectified sine wave. 2. 1.41
C. Peak factor of half wave rectified sine wave. 3. 2.00
D. Peak factor of full wave rectified sine wave. 4, 1.11
Codes :
A B Caih
(@ 1 3 4 T2
bl =4 2 3
e e S | 3 2
@ == 3 2

In a transistor Colpitts oscillator, C, = 0.001 uF, C, = 0.01 pF and L = 5 pH. The

frequency of oscillation in MHz will be :
(a) 237MHz (b) 10.00 MHz
(¢) 11.54 MHz (d 9.09MHz

Ina transistor,'hfe =50, h;, = 830 ohms. and h, = 10, When uséd in CB configuration,

its output resistance is about _ Bl
(a) 2Mohm (b) 500K ohm

(¢) 2.5Mohm (d) 780K ohm :

If the feedback factor of an amplifier is 0.1 and its gain without feedback is 40, then its
gain with feedback is :

(a) -133 (b) 200

(c) 8 (d) 10

149. If the filter capacitance is increased, the ripple will
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(a) remainsame . ; : (b) increase
(c) decrease - ' (d) bezero

150. A high-Q tuned circuit in an amplifier permits to have high
(a) selectivity (b) fidelity
(c) sensitivity (d) frequency ranges

151. If the gate voltage Vgs of a MOSFET is increased, then

(a) mobile charges carrier density decreases.
(b)- channel conductivity increases

(c) channel widens .

(d) channel conductivity decreases

152. If the emitter resistanc_:c ‘R,’ in a transistor amplifier is removed, then
.(a) " base to emitter junction will be less forward biased.
(b) gain of amplifier decreases.

(¢) Q-point becomes unstable
(dy All of these

145, I - [t g - 0 R goifem 2 gu gieat i il ™ g s sl sy

- -1 -1
A, 3F TOT AR 4T T 1 EH O L 157
B. Ul T URRITYA 41 T 1 BT TR 2. 141
C. ot i wfteifua o et @ vid Tores 3. 200
D.  of &0 T 9T o S i 7o 3 i
Fe: :
A Bod D
W 123 4+ 8
1) i el S S,
c) 4 1 3 2
i R S, SR
146. U i ey Sers a5, C, = 0.001pF, C, = 0.01 pFaaIL = SuH%IE’!ﬁ?ﬂrqﬁr
MHz &t
(@ 237MHz (b) 10.00 MHz
(c)” 11.54 MHz (d 9.09 MHz
147. @gﬁmwnmfe..so hw—8303=ﬁ'=[a?l'fh =10 | /9 CB ¥&9vT & Wt & g0l fie
Ty &, T
(a) 2Mohm (b) 500 K ohm
(c) 25Mohm - (d) 780K ohm
148, ot wrarss s QiR T 0.1 & T went o gt % wfer 40 ¥ o g gEEor & w9
(@) -133 (b) 200
) 8 : @d 10
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149. 7t frwex wifter =t wrgrar s & ot S
(a) FERA | (b) =@ |
(c) FHE | (d) Y&
150, forelt wandss & 39-Q woeaftet oo we Fea '
(a) =T T=Yiern (b) = HEEA ‘
(c) =9 HagASterT (@) =g
151, frelt MOSFET & %z seeat v, %t it fear st e
(a) T STET FAER TATFHE AR | (b) S I T AL | :
(c) St =ter ag SR | (d) o T FT A A E |
152, feht zifores wande % sete wfirdy R, # gt fear s 2,
(a) MR ¥ IeaTe Wiy 1 o | 9 @ 9w |
(b) VEYH F A FHE AAE |
() Q-fsgaferetsmrd |
(d w=Eaedt
153. In an astable multivibrator
@ P=1 ® BA=1
© B>1 (d B<1
154. A Zener diode has a break down voltage of 9V and maximum power dissipation of
360 mW. The maximum current the diode can handle is
(a) 20mA (b) 30mA
(c) 35mA (d 40mA
155. In a Hartley oscillator, L, = 0.1 mH, L, = 10 pH and mutual inductance between coils
equals 20 uH. The voltage gain needed for sustained oscillations should be
(a) ‘237 (b) 0.1
(c) 11.54 (d) 9.09
156. The amplifier having the highest amount of distortion is
(a) _Class A (b) ClassB
(c) ClassC (d) Class AB
157. The set of transistor characteristics which enable o to be determined directly from the
: slope is _ . ~ate
(a) CB transfer characteristics - (b) CE transfer characteristics
(c) CB input characteristics (d) CE output.characteristics
158. The voltage V of the circuit shown below is
- Series-A L8 b SES-07 .
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159,

160.

161.

153.

154,

@ 5.1V s ® 3.1V
) 25V _ ' (d) zero

In practice generative breaking is used when
(a) quick motor reversal is desired.

(b) load has overhauling characteristic

(¢) controlling elevators, rolling mills etc.
(d) none of these

For heating a magnetic material using induction heating, the hysteresis and eddy current
losses are respectively proportional to
(@) fandf? (b) f2andf
"(¢) fandf (d) none of the above
The widely used series-parallel system of speed control of d.c. series motors in' traction
work gives a speed range of about
(a), 1:2 ' )y 1:3
() 1:4 d 1:6
U W@Iied SEhTA § &l &
(a B=1 ; (b) BA=1
15y fixl d B<l1
ferit S T S Yo Seee OV & auT e VIR 61 360 mW § | Sfueee R iR
e tfrest = wFA 8, &
(a) 20mA ' : (b) 30mA
(c) 35mA (d 40mA

155.matﬁﬁmﬁLFOJmH,Lf1omwwzhﬁmwﬁmmzom%wri%mﬂ‘za
Tret % fordt ateean wifed g =gy
(@) 237 \ (® 0.1
(c) 11.54 (d 9.09
156. Seeraw feepfa = ool Yage i & ,
(a) A (b) FEB
(c) FHC (d) 9 AB
157. ;ﬁmaﬁa&ﬁ%w%ﬁmaﬁm%mﬁaﬂmﬁmmw%?
(a) CB 3wt SewoT 4 | (b) CE 3R SHeror d |
(c) CB e s ¥ | (d) CE fria sfeem ¥ |
SES07 © ‘ 3 Seitenk
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158. % 7ol W o v_dram i
(a) 5.1V (b) 31V
() 25V d =
159. TTocRe 3T ey f s & o
(a) ¥ AR Fadler 9t s et | (b) ¥R e AT HE |
(c) tzvﬁ&a Afem g srfe F frgmord |1 () T I e
160. ﬁmaﬂawmm&?ﬁaﬂwﬁ%m%m e w2 wawmarﬁmm'ﬂa"rﬁa"r%
SRHRT:
(a) faARf2F ' ®) f2aRf{%
) faRfF (d) SWHH I T
161, 3= w7 v fean. Soft wtext & nf Frdar & fordt e wa B A St guER
Tt fe-er e & Fme
(ay -1:2 {B) L:3
(c) 1:4 3 1:6
162. The latching current in the circuit shown below is 4 mA. The minimum width of the gate
pulse required t% t}lﬂ on the thyristor is
T 100V
(a) 6pusec (b) 4psec
(c) 2psec (d 1psec
163. A thyristor- is triggered by a pulse train of 5 kHz. The duty ratio is 0.4: If the allowable
- average power is 100 W, the maximum allowable gate drive power will be
(a) 50W (b)) 150W
(© 1002w d 250w
164. A three phase diode bridge rectifier is fed from a 400 V.rms, 50 Hz, three phase a.c.
source. For the purely resistive load, the peak instantaneous output voltage is
@ 4002V (b 400V
o 400 - 2
© NG v _ () 400\ﬁ v
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165. If a d,c. motor is disconnected from the source and armature circuit is short circuited
through a suitable resistance, the process is called
+(a) regenerative breaking (b) rheostatic breaking
(©) dynamic breaking (d) no breaking is possible
- 166. In smgle pulse modulation of PWM inverters, third harmonic can be eliminated if pulse
width is equal to” ;
(a) 180° (b) 120°
() 60° ‘ d) 30°
167. - A single phase full Abl;idge cbnyerter supplies a load drawing constant and ripple free load
: current. If the triggering angle is 30°, the input power factor will be
(@ 0.65 (b) 0.78
{c) 0.85 (d) 0.866
168. A separately excited d.c. motor fed from single phase full converter with firing angle 60°
runs at 1000 r.p.m. If motor is connected to single phase semiconverter with the same
firing angle of 60°, it would run at
(a) 2000 rpm ' (b) 1850 rpm
(¢) 1500 rpm (d) 1000 rpm
. 169. The total charge within a sphere of 1 m radius for D=x 2, Cim?is
(a) 4.19C : (b) 3.14C
() 1.00C . (d) 838C
162. < TATE T3 GRYT F FAT YR F A 4 mA ¥ | AR F ZH-3HH F F o de-gew @
’ 0.1H
g —D
T 0V
(a) 6 . (b) 4 wIEH R,
(c) 2R . : (d) 1 =Rt E.
163. T AT H 5 kHz Hi Tow-37 § fg ohar S & | g o 0.4 # | A i S
wf%ra 100 W & @t aﬁmmﬂzwmﬁam
(@ 50w (b) 150w
() 1002w : d 250w
164. = feren erare forst el #1400 V (3R U7 UR), 50 Hz Freeita w91 sia § gf < et &
| QUi HieRTeTe SR % ford vird areeforss fofa aieea &
(@) 400\2V (b) 400V
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165.

166.

167.

168.

169.

170.

171.

172.

© % % (d) 400273 V

ft firdt .. witer =t it @ e o e o e et ooy = faredt soge whRy @
wgaie o e o, R rEr R we €

(a) et RfET (b) FeNRfes dfsT

(c) Tt R (d) = T e

PWM $R1 o Uehet o AIger & el SREtFrer sl ST fepam o et & af Jog &t whverd &
(a) 180° (b) 120°

) 60° (d 30° =l
@wﬁuqﬁﬁwqﬁaﬂm%ﬁmﬁmﬁmuﬂwmsﬁmﬁmwﬁm%w&
ey shror 30° & &t Prdrer wifte Tore @

(@) 065 () 0.78

© 085 (d 0.866

T SRl STl 3.4, e et shell U aRaden v Wi sier 60° &, ¥ 1000 r.p.m. W T@mT
ST | 9 AT o ufee v i i 60° € 8, } WA Ren s ot gs wert

(&) 2000 rpm WX | (b) 1850 rpm = |

(¢) 1500 rpm X | (d) 1000 rpm W |

e e et et 3 SR T ST D = x4, C/m2 ¥ ford &

(@ 4.19C (b) 3.14C

() 100C (d) 838C

In a parallel plate capacitor of capacitance Co, the electric field is E. If a dielectric slab
with dielectric constant = 7 is introduced to fill capacitor completely, the electric field will
become

(a) 7E (b) EN

(c) E/BS5 (d E.Co

— —
If the magnitude of H in a plane wave is 1 Amp/meter, the magnitude of E for a plane
wave in free space is

© (a) +367.27 volt/m : (b) 637.72 volt/m
(c) 736.27 volt/m (d) 376.72 volt/m
The condition for an electric field E to be a static field is
g e - .
@ E-ds=gleo ® LE-d7=0
- - -
(¢ VxXE=0 d VXE=p

173,

Piezo electric effect is generally observed in
(a) conductors and super conductors
(b) conductors and semi conductors
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(c) insulators
(d) insulators and conductors

174. 'Determme the phase ve]ocxty of a plane electro magnetic wave at 10 GHz frequency in
polythene. For polythene p=1€,=23

@ 1977x108m/sec ; (b) 2.917 x 10° misec
(€) 3x10%m/sec ©(d) 7.917 x 108 m/sec
175. The depth of penetration of wave in a lossy dielectric increases with the increase of
(a) conductivity - ' (b) permeability
(c) wave length : (4_;1) permittivity

 176. A'The transient response of the initially relaxed RC network shown below is

t=0

—Xo—‘w&w—

e i(t)) ==C

@ i) =geRe ®) i©=geR
T —t/RC : ¥ ~t/RC
(c),  Ht)= g (1| R @ iM=gd+e5)
A77. Fourier series functions of a periodic signal with half wave symmetry contains only
(a) sine terms (b) cosine terms
(¢) odd harmonics (d) even harmonics

170. Co wiRaT Tt TH-QHAIAR Wie Wy o fage & et E & 1 3R @il % e o6 wrga
forarer WS 7 8, ¥ Juifs F guiew ¥ w1 g st 8, ot foge dw @

(@ 7E (b) E/7
(€ EB5 - d) E.Co
171, . feeht woreen v & H 1 9 1 Amp/meter ¥, 7t i e & wwerer avn 3 fort E a9 aiAmr g
(a) 367.27 volt/m (b) 637.72 volt/m
() 736.27 volt/m (d) 376.72 volt/m

172. dwn & E 1 e dgm dm f v ¢

@ E-d¥=geo ® ,E-d7=0

© VxE=0 @ VxE=p :
173. WWWW%@W%

(@) o AT Sferamers & | (b) TR R A FeTH H |

(c) foemaw=isd| (d) foega Yyl & e A |
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174, v, frapt = 1, € -23%ﬁ10GHz¥I3ﬁlalﬁﬁFa°rméqaﬂ'Wﬂﬁqﬁm%W

175.

176.

177.

178.

179.

FeMATE
(@ 1.977 x 108 m/sec (b) 2.917 x 10® m/sec
(©) 3 x10% m/sec (d) 7.917 x 10® m/sec
IR AT # T % YA F e gt & |
(a) TRFATEAY | (b) URTHAEER T |
() WReATAR | @) FrgmiemaERe |
ﬁmmkcw,ﬁmﬁhmﬁtﬂmaﬁﬁm%
t=0
e =
——AAAAA——
VJ_F' i(t)D —-C
(@) i) =§e~VRC (b) i(t)=¥e"RC
© =g 1-eR) @ io=ga+eRo)

aﬁmm%m%ﬁmmmmﬁmﬁmaﬁi

(@ T ® TR |
(c) o amifree (d) wHEmEifeg
The current in 1 ohm resistor in the network is
4 v 2Q
I AW
SN 40
_ - —
2V 2 Q
11 AN
. l Q
(@ 139A ‘ (b) 129A

() 119A (@ 109A

Transient current in a RLC circuit is oécillatory when

@ R=2\/% ®) R<2‘\/%
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© R>2\/% Eon @ R=0

- 180. At half power frequencies the current in a RLC series circuit is

1 1
(8} - 5 X the current at resonance (b) ﬁ X the current at resonance
1 : 1 ‘
() R the current at resonance (d) % x the current at resonance .

181. If the voltage applied across a capacitor is triangular in waveform, the waveform of the

-current is | .
(a) Triangular (b) Rectangular
(¢) Sinusoidal (d) Trapezoidal

182. The resonance frequency of the series circuit shown below is

M=1
,_@_H_.

2H 2H 2F
1 5
-(a) EHZ
ks
®) '4n\/§Hz
© ,—Mbﬁﬁz
1
(d) 4—n\/3Hz :

178. 72T % | A1 Wiy & 4R A 8
4V 2Q
—||—-——'\ww—
axr- - 46
—||-—wvw—
2v 20
——-||———-ww—

0
(@ 139A (b) 129A

() 119A (d 109A

179. e 9T Rt RLC 9iee & e & €, 99

L L
(a) R=2-\/% (b) R<2-\/;

SES-07 - 43 . Series-A




180.

181.

182.

183.

184,

(c) Rﬂ\/% d R=0

a1 v amgferal @ RFeft RLC stoft oftwer & wrar o v e & :
(a) %xmmm (b) %XWWW

(c) %xaﬁmww (d) éxﬂﬁ:ﬂﬂm

A ferett Wit w2 et siteean Fr e SFfer Frgoeer & ot ﬂma%ai'rrwﬁrz’ﬁﬁ%
(a) FrgemeR (b) IEEAER
(c) = (d) TITEERR
i i T Aoft aftey # st gt
/M u:
: 2H 2H ZFE
1
@ gHz
1
® 3 5
1

© 2010 Hz

e %
@ 4m|2 g
The admittance parameter Y, in the following two-port network is

I, 20Q 5 ’

E, 1002 E

@ ‘-02mho _ (®) 0.1 mho
(©) =-005mho (d) 0.05mho

The driving point function of the network shown below is
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Z(s) 4L=005H A

=C=5F $R=2Q

( )‘ 0.2s
M (24015 +2)

0.2s
® (Zr0ls+4)

. 0.2s
©) (2+s+4)
S

@ @rols+4

185. ‘Potential difference V., in the given circuit is

. 24 av
Tl'__
. >

AAAAA
YYVYVYY
i

@ 27V
gy TV
183, Fret fe-cité e 3 et W Y, ¥
L 200 I,

(a).
(c)

184. ﬁwﬁmwmﬁgw%
SES-07

45

(b) 32V
d 42V

(b) 0.1 mho
(d) 0.05 mho
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1

<
l——>z(s) L=005H Tc=51= %ERﬂQ

0.2s
(s> +0.1s +2) !

0.2s
(s2+0.1s +4)
0.2s
(s2+s+4)

e e
(s2+0.1s +4)

(a)
®

(c

St

(@

185. ﬁ#ﬂﬁmﬁﬁ%mvxy%'

W [4V
| 1 : T
v g0 330 350
I___;V\'* i 1
\Y
y
@ 27V () 32V

(© 37V @ 42v

186. The effective resistance faced by the voltage source in the circuit shown below is

—ww
v il5 vi
W ok ® 30
'(c) 5.52' ; i @@ 1Q
Series-A _ 46
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187. In the circuit shown below, the value of load resistance Ry to extract maximum power and

the maximum power will be respectively
' 6Q

—t A AA
WANE -

b e 30 R,

® 9Q:05713W
@ 18Q;:0.0375W

@ 2Q;375W
© 6Q;0375W

188. The switchs in the cir&:uitr has been opened since a very long time. The value of current

through resistor R, immediately after switch is closed, will be

‘8’
R
= A
AV
R
(a)‘ Rl ‘ y (b) RI'I-RZ
‘(C) Rl2 (d) zero
186. = o T oftgw ® Se g gR AT R ST et g wiekty €
: 50
— A
v if5 v i
@ 4Q ®) 3Q
© 5Q @ 19
SES-07 ‘ ‘ 47
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187. % T T <ftwn # s iR W e 5 ot o Y R, e s v 6
FOT:

(a)
(b)
(©)
(d)

6Q

3y 30 Ry,

2Q:375W
90:0.573W
6Q:0375W
18Q;0.0375 W

188. tftwy % feare i 7 W @ gem T A R | e it 7= iRt o % R AR AR R, §
=1 HH g fo e

(a)

©

Vv A

R, ® R +R,

Vv

R (d)

R, T

189. The Thevenin resistance across the terminals AB in the given network is
& A >
i
+
1v
- B

10 20

3 Q (b) 3 Q

(a)

Series-A
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o : 4
© 22 - @ 38

190. The Norton equivalent circuit6 fg the given network between A and B is

A‘v‘v‘v‘v oA
18V 230
A
- | B
, A
@ 240 6Q
: etk B
(b)
A
© 2A 2%
B
| A
@ 3A ﬁg 90
e B
189, < fet wwar § AB it & die e wiadiy &
[ | %
20
+
Y
~ *B
20
e . ® Za
© SES-07 ; 49 Series-A
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Q (d) ‘;'ﬂ

190, fick T s & fordt A o9 B 3 e e e R

6Q ;
l AAAA- . oA
18V _I_ 30 :
B
At A
(a) ZAdD 6Q
B
A
<
(b) 3A ‘D < 2Q
—o B
A
© 24 3Q
B
o A
<
@ 3a@® 399 *

‘ o B
191. Superposition theorem can be applied only to the circuits having
(a) Non linear elements (b) Passive elements

(c) Linear bilateral elemehts (d) Resistive elements

192. Two identical 3 V, 1 Q batteries are connected in parallel with like polarity. Norton ‘

equivalent of the combination is

@@ 3A,05Q (). 6A,1Q
© 3A,1Q @ 6A,05Q
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193. In delta connected load, the zero sequence currents
(a) are gb_seht T (b) circulate locally
(c) flow throigh phase wires (d) flow through earthwires .
' 194. The current in the resistance R; of the given circuit is
40 - 6Q
—AMW A A
| 80
30V R =15Q
4A
B
(a) 24AfromBtoA (b) 14AfromBtoA
(c) 24AfromAtoB (d 14AfromAtoB
195. A step down chopper. as shown below is switched at 1 kHz with duty ratio D = 0.3. Peak
‘to peak ripple in load current is nearly
LN
: ‘ S , 200 mH
| CH
100V i
(@ 10A : : () 05A
(c) 0.125A d 025A
* 191, guRESieR R e @ W & I afkwet F ot vad § e
(a) IWEETH (b) aFg T
(c) e fymives aw (d) v o
192. T3V, 1 Q % T defdt TAgEvE & WY FAARR A HA § | T I A THIEE €
(a 3A,05Q _ (b) 6A,1Q
) 3A,1Q d 6A,05Q
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193.

194.

195.

196.

197.

e Fafore R o v o
(a) ST EAE |

b) R |
(c) Hemari AEAE |

(d) YEoHE e |

fet m oftoe & wfiy R, f w6 el awr R
40 6Q
AW' ‘W‘ A
80
0V R =15Q
4A

B :
(@ 24A;BRAF (b) 14A;BRAF

(©) 24A;A¥BFH (d 14A;ARB=H

A Tt 8 R 3 TR | kHz W e e e 8 1 39 5q SR D = 0.5 & 1 ¥
| ¥ 3fFe aR yw | s

LN 200 mH

o e EES
CH '
100V =" SQ
(a 10A () 05A
© 0.125A @ 025A

The moving iron voltmeter indicates

(a) the samie value for dc and ac voltages.

(b) lower values for ac voltage than for corresponding dc voltage.
(c) higher value for ac voltage than for corresponding dc voltage.

(d) none of these.

A capacitor is ‘fully charged to 24 V and then connected bét\fyeen points- A and B in the
network given below with its positive plate connected at A. The current through the 2 kQ

- resistor immediately after the capacitor is connected, is _
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1k
SRS ik
6V —— 2kQ
(a) zero (b) 2mA
(c) 8mA : @ 12mA

-

198. In a network, if the numbér of holes is n and number of elements is e, then the number of
‘independent mesh equations required to solve the network is

(a e-n+1 (b) e+n+1
) e+n-1 : (d e-n-1

199. Hot wire ammeter is used
(a) only for de circuit : (b) only for ac circuit
(¢) both (a)and (b) (d) Either (a) or (b)

. 200. In the network shown below, the values of Z,, and Z,, are respectively

1 E °2
2Q
0 e
e x =
281
. 1,2 : ®b) L1

13| @ 2,3

196, 1 e SeeHieT P HAE
@) @ 3T S w5 eHE aw
(b) T dees F A G AT § T
@ T S F A SR, deest § 7 @ e
(d) ¥ @ *E T

197, TF §UIRE 24 V HieE 7% Ui TR & 31K e R A g T Feas § fagai AT B ¥
e o W A ¥ i T e § | S A i % 9 e 2 kQ
© R H R AR §
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198.

199.

200.

6V —

(a) YA ‘ (b) 2mA

(c) 8mA (d 12mA .
forat e o dfugt =t ¥ n & qUT avEl W E& e € | 2T F e F R wmm a1y
TR it HE & :
(a) e-n+1 (b) e+n+1

(c) e+n-1 (d e-n-1

BT TR ST 1 TATT 4 &

(a) Fae St ofmerd

(b) Haw TH. wRug 3§

© ()R p)AAH

d (o) Fhwd

el TR T Ao H Z,, T Z,, % A E FEE

@ 1.2 ® 1,1

€ 1.3 L

Space For Rough Work / 7% % % forg sme '

Series-A 54

SES-07




